MULTIPLE CHOICE Circle the correct answers. SCORE: /4 PTS
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(1] Which of these is/are improper 7 #1m J.tan "x dx How J.CS(:x dx #3m jjT-g dx
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CIRCLE THE LETTER BELOW WHICH CORRESPONDS TO THE CORRECT ANSWER.

[A] none [B] only #1 2 [D] only #3
[E]  only#1 and #2 [F]  only#l and #3 “TG] only #2 and #3 [H]  all
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[2]  Which of these converge(s)?  #1% J I dx Hom J—ﬂ dx H3m J' — dx
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CIRCLE THE LETTER BELOW WHICH CORRESPONDS TO THE CORRECT ANSWER.

&1 ¢ mone @ only #1 [C]  only#2 D] only#3
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only #1 and #2 only #1 and #3 [G] only #2 and #3 [H] all

Give very brief answers. Explanations are not required. SCORE: /4 PTS

[1] If 2(x) < x™ forall x, what can you conclude about | A(x) dx ? jusT pd @ 5
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(2] If f(x)2g(x)=0 forall x,and | g(x) dx converges, what can you conclude about | f(x) dx ? LaTHING: @
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Evaluate Ixez.r dx . If the integral diverges, write “DIVERGES”. SCORE: /6 PTS
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Evaluate _[ 9x? arctan 3x d . @ SCORE: /5 PTS
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TP C -
= ! QSC O____., — ,_...» L~
l ___d__.)h [t*.? ‘, FE n b3
%-_—"fll =B a5 R= | % |
CoET of ) ‘ . . v 7
{z, : A -+ C;“-- O pus— ﬁ/_\ A :lé' ( ? :u
I A R et )
— ) o &2 T e 5 50 g0 o
t—202 P(_Zt—-J,L) o
o | - SCORE:
valuate I(;+3)(;3 —4t+20) fé—— UH—: S’ R

,_23

A[& 2->+se] BCZtM’4)Lt4’&)+th+3)& ~_2.o;>_.@ ’\@ O @

(2(::’-?) 2
o i et

=2 LA+ 5C= 280 —» BC.o0.0) s (=34

CoeF of . @ T ~ )C, 3 *%—,w_ X £120)
%’3.0: A"'Q-L%’O-—-?“B)""QLA‘;——; @L__g’ ! + }LL (& 4, )(,J
o bt v B
S oRete , gedd L 1 CE., BEEy -84 el
& - W2y 22

Z @

-5 7

R

= "5—” :'—5"1!/




